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Course 3 Benchmark Test - First Quarter (Chapters 1-2)

1. The average distance from the Earth to
the moon is about 384,000 kilometers.
What is this number written in
scientific notation?

A. 384 x 10°
B. 384 x 10°
C. 3.84 x 10°
C*D. 3.84 x 105
2ELees =
3. ¥ \4 A l('.)

P

2. SHORT ANSWER Marc is finding the
product of the monomials 3c2d* and
—4c*d. His work is shown below. What
error did he make?

Marc
3cd*(—4cid)
= 3(—4)(c2c*)(d*d)
= —12¢%d*

He multiplied the exponents
instead of adding them

2 czcl”‘

™ ———— - - B
3. Which pﬁ!nt on the number line

shows V45? VNS & qur?

F. point F

G. point G

Eipomt H |

I. point/

Course 3 ¢ Benchmark Test — First Quarter

4. A moving company charges $40 plus
$0.25 per mile to rent a van. Another

company charges $25 plus $0.35 per &2

mile to rent the same van. For what
’ —

number of miles will the rental cost be
W —-m

the same for both companies?
't"' Company 6

[P 150 mileg) =FL2
AS+.25mM

Uo+,a5m
B. 180 miles

¥ ihen Wil miles be
. eqLol %
C. 260 miles * Set e%mhor\s @%D&l "'0

goch other and Selve
D. 650 miles for MO\

X See otached

5. A taxicab service charges J
$0.40 per mile. Molly takes a taxicab
from the hotel to the airport. If the
total charge was $10.95, which equation
could be used to defermine the number
of miles from the hotel to the airport?

F. 3.75m + 0.4 = 10.95 -H‘G(‘}FJ

‘ *G. 3.75 + 0.4m = 10.95;

H. 4.15m = 10.95

I. 3.35m = 10.95

6. Which value is equivalent to 4-3?

A —12 X See
B. -1 |
‘ a+- )
c. - L '/UC})%@
: 64
*D.
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7. SHORT ANSWER The Venn diagram
shows the real number system. Write
the names of the missing sets of
numbers.

a. Irrational

Numb
b, umbers

Whole
Numbers

a. Rational Numbers; b. Integers

. Which of the following does not
represent a rational number?

F. —250 7&
Sta
G- 55 atiached (
*H. V60
I. 12.0982

9. The school marching band has
36 members. The band director wants
to arrange the band members into a
square formation. How many band
members should be in each row?

26 = G

lp Mmembers

C.5 in (o rows <

20

D. 4

218

(continued)

10. Which expression is equivalent to the
expression below?

agaaabeabbrab-a

( *Fatb)

G. a5b
H. (ab)t°

1. (ab)?

11. What is the solution to the equation

below?
2 1 7
3P0
_13
/ 10 See
4 % J
*B, 5 M&\e
26 )
45
16
D. =

12, Solve the equation below for ¢.
3t —-5=-21+1¢

F. -52 SQ,Q- ﬁA
G. —32 & va
H. -13

Course 3 * Benchmark Test — First Quarter
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13. The distance from the Sun to Earth is
about 1.5 x 10! meters. Suppose light
travels at a speed of 3 x 108 meters per
second. About how long does it take
light from the Sun to reach Earth?

A. 4.5 x 10" seconds
B. 1.503 x 10" seconds
C. 5 x 10° seconds

*D. 5 x 102 seconds

LS xaG 5. BA0°
310" = g x|o®

14. What is the value of b in the equation
below?

4b -1)=2b + 10
F. 4 LHD_L{.:_ ab+\0
G. 55~ab "340

@ 'Qamzx‘; \O

L. 115 + \*

O AL \ !
ig\ b=1 Ei
15. The table shows thé populations of

several states. What is the population
of Ohio written in scientific notation?

rulF N ST

(continued)

16. Which of the expressions below is not
equivalent to the other three?

Q\Swads -

——

Y

F. 0.015625 m
C *G. 15.625% )
\ A
H. 4 o “:;.3 . mq’
1
L 25w

17. SHORT ANSWER What is the result
when the monomial —5x%?z is raised to

the third power? VS =Je) C_Y\ -\-Q_\’ n
S22 MNOST be

(_5)(3 aLbed

18. The area of a square_living room is
169 square feet. What is the perimeter
”

of the room? ‘ 3
[Ted =13

B Area = 169 ft* ?
"> Find the lenth
A 131 o Find The lenr
of each side
BT by Finding +re
-m ‘ S0 ues e rocz;ﬂfj’:"‘
e

State Population
Georgia 9,400,000
lllinois 12,900,000
2|  ohio 11,500,000
California 36,900,000
A. 1.15 x 10 Lm
B. 1.15 x 1077 M
1.1IS X 1O
*C. 1.15 x 107
D. 1.15 x 10° ’\'\(\@" mu\kﬁ(
Course 3 « Benchmark Test - FP Quar er N\b\"’
pu
laces 17y

1o nave \ He N

+ Perimeter,z
Ndd el Sides
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19.

20.

21.

220

Between which two integers does V88
lie on the number line? —

3456 7 8 91011

-] \,?? \"S ho‘l’
a perkect

G. between 7 and 8 S%Ua(e'

H. between 8 and 9 e ﬁ N betues
JEI « Voo

F. between 6 and 7

n

*T. between 9 and 10
m VE oo
=Q =10

Which of the following symbols results
in a true number sentence when placed
in the blank?

V12.96 3-";-
o= Jgaqp = 3.0 .
B>  34:2%:=20%

Py

C. < 2
|93 F

SHORT ANSWER The area of an

equilateral triangle is given by the

2
expression f, where s is the side
length of the triangle. What is the area
of triangle below? Round to the nearest

tenth. SUbS‘EthU*e
| 5 for S

10.8 cm? 5cm

R EN as(mz)
==

22. Which of the following numbers has the
least absolute value?

F. 35><10‘5

Wé« 3mallest

QX pon QY\+

H. 5.62 x 10®

1. 1.002 x 102

23. Which equation shows the following
relationship?

Seven less than four times a number
is equal to 5.

A.7-4n=5
‘*B.4n—7=5 )
C.Th—-4=5
D.4-7n=5

24. Which equation is equivalent to the
equation below?

5n+6)=20-3)+4
F.5n+6=2+1 5(”““’)"9{“‘3)*“'
5A+30 0=+

G-n+6=2m-2 g o0 =0~

H.52+30=2n+1 7]
*I 5n+30— n—yj

Course 3 » Benchmark Test - First Quarter
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Course 3 Benchmark Test - First Quarter (ontinved)

. 25. SHORT ANSWER Juanita has saved $65
. e ey
for vacation. She plans to save an
additional $5 per week. How many
weeks will it take for Juanita to save a

total of §12§" Write and solve an

equation.

65 + 5n = 125; 12 weeks

ﬁb‘ per W}QQK o save fofal

nOS

b5+ Sw® =135

Copyright © The McGraw-Hill Compani
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Fist Buoarver ( Chapters 1-2)
b, HD +.85m= &5+, 25m

A0+ . 5m = 3% +.35m
-5 Y gk Y
%5 ® 05 - .35YY\

Y -.98m - .895m e

_15 = < 1OmM.
. 10 o Jo
® )56‘:-“\_}\ I5<>m.les >

5. Fee {ordanl Olus P40 permiles tolal
3.75  + °L¥DW\:E\O~@ B

- I B P
. Y°>=z T”w‘w\ﬂ"@

K. dtienal nombers Can ke writen
as a. decimal thot terminates or
[cpcats or  Can be WwireHen Qs o

frackion, A, - QSO - ~H2_~
| B 2>q / Ca\reqdj G ﬁmdwb ey
O 0] = 7. 745960692 pecase wilh
D,. 19.0983 O minate.

((epeating decirmal )
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Mrs.Branson
2 - =2
. —ZFp+ =16
Wy _ x Jou need &
-2 A 2 -1
3p " = iod 53 tomrnon denami nator
| 45
Y /e ~Thi. g5 do stbtad
— 3P = B5 ¥ 4 solve F'p”

3y—Fp  =UE(E)  molhely both
. Sides bﬁ H\gz
p - """",D " fECl'pr)CCLI of - 3

Q. 34-58= —3\++¢
-5 = —al+l¥
- |+ \\/ J -t
dt-B = -3l o
Y ¥5__+ 5
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Course 3 Benchmark Test - Second Quarter

@ -

‘ *D. $7.25 per hour

10 7250
+ 15 108.75
6 20 145.00

The table shows how much Addison
earns for working various numbers of
hours at a part-time job.

Hours, x Earnings ($), y

Which of the following describes the
constant Izwg_r_lge?

A. 5 hours per dollar

B. $5.00 per hour

C. 7.25 hours per dollar

gé’m

4, What is the solution to the system of
equations below?

-3x+5y=5

F. 3,1

G. (0,1)

I. no solution

5. SHORT ANSWER Missy walked around

2. Let n represent the figure number in

the pattern below. l (D

.

the school track to warm up. Then she
ran several laps before walking to cool
down. Sketch a graph to represent
Missy’s distance run over time.

Sample answer:

2

\

[]

1 2 3 4

Which function represents the number
of squares in each figure?

*F, f(n) = n?

3.

G. fn)=2n
H. f(n)=n°
I f(n) =4n

Which systems of linear equations has
a solution of (-2, 1)?

*A. 2x + 3y = -1
x—y=-3

®

222

B.2x+3y=1
x—y=3

C.2x+3y=-1
x—y=3

D.2x+3y=1
x—y=-3

Distance

Time

. Which term describes the function
shown below?

-

/\
|

i
.Yl_vv /

/

X

A. constant

B. linear

, *C. nonlinear '

D. quadratic

Course 3 « Benchmark Test — Second Quarter
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@ Midtern. Practice - Chaplers 34 _ - .

(Secord Quarker)

|+ Kode of Qha@e is the Same.

Qs +he Slope
Changerno X 5
=( 7.5
:
] 1%=] Eack Value fon''rn.”
219%= ¢ 'S \oel ng  Sguaved
313%= 9

O HH2 = 16 Fln)=nt

SL (- & | ¥ Sobstitute (or L+Y

XY +o See for ohich Eguaken - 2and |
hrake: o 8 tatians true

A. @X%S’)H’:l’-\ T K -yE-3
Q(-2)+30)=- -3=(1)=-3

4+ 3 = ~-3=-3
-l\/%\ el
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©

@
H, 2y -3 g =]
-3 +54 =5
¥ Yo Can Sobsihituie @ach
Lhaice for X and to see which
Point mMokes  bein eqLations
hoe,
Ho (5,4)
() -al4)= 1
s -3 =77 v
-3(5) + 504)= 5
@ NS+ D =5 L
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Course 3 Benchmark Test - Second Quarter (continued)

7. What is the equation of the quadratic 10. What is the domain of the function
function shown in the graph? shown in the table? D ai !)
AT 14 x | 4] 2] 0| 2] 2 S
* LDOK 0\+ \ II y —3 7 5 0 -1 9 QQX)
+he y-interept / =
. D C\\ \\0 / x F. all real numbers
G. all even integers

H. {-3,-1,0,5,7}

F y=x2+2 e
— *L(4,-2,0,2,4) [ ‘nateS
T H y My & { a
*G oy =x2—2 \ L )Q/(‘,DOYC‘
H y=2x"
I y= %xz 11. What are the slope and y-intercept of
the linear equation below?
y=—bx+ 2
A. slope: 2, y-intercept: (0, —5)
B. slope: 2, y-intercept: (-5, 0)
g 8. SHORT ANSWER Find the x- and R . . )
y-intercepts of the linear equation C. slope: —5, y-intercept: (0, 2)
below.

D. slope: -5, y-intercept: (2,0)
, 4x — 5y = 20 + +he e quaktiaon 15 L“Q
‘ (ET()), 0,-49 O s lope—intefcept FOt o+
Y= ‘L{—b.\c;_y.;V\-VUCQ
Slo‘.‘é"e,

12. A tank contains 550 gallons of water. |
When the valve is opened, the tank \\pe( ‘
drains at a rate of 12 gallons per ;¢ o ¥
minute. Which function shows the |,/ ¢d

e for cl.

d to

isg

Inc. Permissi

H 9. What is the slope of the line that passes relationship between the time ¢ the col ‘(0‘“0‘
2 through M(-6, 1) and N(2, 5)?7 valve is opened and the amount of m\)\\\p\‘
3 water in the tank?
g A 2
2 ‘ *F.A() = —12t + 550J
2 *xg 1
T G. A(t) = 12t + 550
° 1
C -3 H. A®t) = 12 + 550
D -2 I At) = —12 + 550¢

Course 3 ¢ Benchmark Test — Second Quarter 223



M.

E. X-intercept ¢ Wwhere +he line

Crosses he
X=aXs
v Where \'\ = O
%—-- ntevceet 2 Linere The hne.
Crosses 4—hed GXiS

Branson

» Where X =
- X — 53 - aO
\l‘—\‘\’\srw_ 3 _ W -0,
43365 | Yv=0
X -5(e)z= a0 4(o) N
O E&Z{ = %ED_ -iﬁ :ag
;/_5(_ 5“f' . | > | :5
== S P e Y 'E:T“;'f___“_“\
(\E 5,00 L _._._m__u?:ﬂ)
G, Slope  m= - -
(~t,1) (&,5)
X 4y P4 ‘5'2.
5 "f\ = ..:.Ll-. - i -
Q--lb 8L 3




m*d>

)

19, AMQU,M of woder = A . P

1 = tima /0 negat

Amount sf water is 550 gal and diains 12 gal permin,
A = 550 — \dt

CAY) = 550~ 12E D& wirifen.

in furedion
Notation
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Course 3 Benchmark Test - Second Quarter (ontinued)

13. Which relation is not a function?

Al x T2l o0l 214
y 3| 3 303 | 3
e - ..‘__,,é.

%

B.[ x [ 5] o 2 | 3| 1T

—5 2 | 0o | —1

C.[ « 1 3 5

1 2 3| 4 | s
D[y [ 4] 2 | -3 | 4

y | o | 3 | 1| 2|3

Funclion ¢ e achh X-value Can be
Paived Waithonly ene Y-value

In B. -3 s Pairedwith -5+ O

C

So i+18 NoY O Function
14. What is the solution to the system of
linear equations shown below?

I
] NN
SN 6

T

=

—4 -2 |0 2X

5

F:/ 2

The Solution
is the poiﬁ*'
odhere. the
Lines intersed

F. (4, -3)
G. (-4, 3)

.@

I 3, -4)

15. SHORT ANSWER What is the equation in
slope-intercept form of the line that
passes through (-2, 17) and (3, —13)?

y=-6x+5

224

16. Which linear function has the steepest

slope?

1.
T pas the
B.y= ——g—x +3 &bjo'lk*e

C.y=4x-2

D.y=-6x+1

17. The table shows the cost of renting a
van from a moving company for
different numbers of miles driven.

Miles, m Cost, C
50 $42.50
4
O 100 $65.00
6 150 $87.50
L 200 $110.00

Construct a function that relates the
cost of renting a van to the number of
miles driven.

F. Cm) = 0.85m
G. C(m) = 0.85m + 10

H. Cim) = 0.45m

[ *L C(m) = 0.45m + 20

18. Which two points form a line that has a
slope of —3?
A. (-5,3) and (2, 4)

*B. (1, —6) and (-4, 51)]

C. (-4, —~3) and (5, 0)

D. (2,8)and (-1, —-1)

Course 3 « Benchmark Test — Second Quarter
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l5° (—xa));}) (é)—&)

Slape- intevcept form &:m)“b

e Eind dhe =137 - -30 --3 _6
Slope of the Poinds  2--9  3+3 5
m = —-(a
WAV
9. (Lhoose o =X +b
172 -6(-3)+h

point 1o Subshituie

(Nto 8:mX+b 1 =13 +b
-1 -1

o, and  Selve for b
5= b
5. Weite Hre | S
equadion Using Y= - o X —\-@
the Shbpe, & Y- int. i .

oo Write an equotion. Fram the
table b9 \Cfr\c\,\@ the Slove and

_SC:\VJ‘(\S for tre \ﬂ'if_\__)rﬁrc_gg-}-
Slope = rate of _Lhange (ny  &AR.D0 - .45

Change tnk 55 VA

Chesse o Paint
@ [fo sobshitvle for Landy in Ysmxtb

N Omd 2alve éav'bb/m‘“ 42,56~ . 4S(56) + b B

:;D‘ 350 th

Funcrion g =
otakon "ﬂ 45X+ A0 ..J"
g%‘)-e%‘m*ﬁﬁG? w e




M. 6«0&3@
8. M= -3

Substitute o tHhe 3{0@_ {armula
to see which poins havtea -2 s lape
m= _‘ja =51 —

La -~ U,

A (5.3) (3 @MO,@ JEga)

X2 R X1 Y, X2 Y2

V’Y\“ 4”5 - __...L M= ""‘_@_ - M: _)_5:—3
9—-5_\_ = -\ -] -5 -5 |
A E-3 | S -
St SN W W M /"W‘ R
C. (U= (5,00 D¢ 2,8)( =)
X Y, Ya. Y= X Yai 91
O--3 -0:3 .3 —l-¥-=3_ 3
B--d By g -1- "5 @ T




MS Eransen

- O

\q. _ (.0)(—-@3 = I'&

\3:‘.0 = O
lx-3(o) = |3 L ()~ Q9219
% a% -}3\ A
-,
(20 p—en {("0)-L)
(@.0) ant 0,0}
Q0. "= 1Lt + 1320
o YA
heijhl; _ 4ime

| Subsiduke 1+ 8 for timme
R = <1 .3+ 10

1o (2.85) + 190
F -2+ 120
&g_gﬁ 3 _B_D_ -
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19. What are the x— and y—intercepts of the
linear equation below?

(continued)

22, What is the constant rate of change of
the function represented in the table

?
6x — 2y = 12 below?
(*/F.(Z, 0) and (0, —6) X |4
-5 23
G. (0, 2) and (-6, 0) +t _1 P et \‘t
+Y 3 o |
H. (-6,0)and (2,0 -
I (0, 2) and (0, —6) F. 16 Qhanae in -
mmﬂm_ﬂ-ﬁm-?-—i" P
G. 4 Change ink
20. The quadratic function A(t) = —16¢2 + | I —16 |

120 represents the height of an object

in feet ¢ seconds after when it falls from

a height of 120 feet. What is the height

of the object after 1.5 seconds?

A. 58 ft (A

*B. 84 ft ‘ 23. The slope of a line is : and the
. : -intercept is (0, 6) WhALis the...> by

C. 92 ft equation of thé Tine in slope-intercept
3 form?

D. 156 ft A. x +5y =30 3:%\)\'*&9 (j\’
5 By = | kp(C®
: B. x — 5y = 30 8\ 4pe. 3""‘“w

C.y=——é—x——6

d to rep

21. SHORT ANSWER The table below shows

A+
=
j

I

!
7|

=

+
A

: the number of teams remaining in each ' 9
E round of a tournament. Is the number = PQES + b
g of teams a linear function of the - - L )L + LD f‘
; number of rounds? Explain. - ol
= T .
g Rouad == N 24. Which of the following equations
S ! 32 -1l represents a horizontal line?
32 [
2 2 1 F e
: + : ] Ly =x /[\
2 N
£ 4 4 % G.y=-x+1 <
° { 5 2 - — - ¢ r
metts g e (*H. y= -12 ) =
No; Sample answer: there is not | '
a constant rate of change. A Lx=5 |
& gw:\\ alway
Course 3 » Benchmark Test — Second Quarter 225

¥ To be linear +here most be pe 13
o, Qonstant rate of Change (N~ [y :”\,.,ws%a Rorizondel
v and X Ny 2 ines ave Verdicel
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Course 3 Benchmark Test - Second Quarter (continved

{L ? 25. SHORT ANSWER The graph below shows
' the length of Michael’s hair as a
function of time. Describe the change in
the length of Michael’s hair over time.

///

Time

Length

Michael’s hair grows at a steady
rate until he gets it cut. This
cycle is continually repeated.

226 Course 3 * Benchmark Test — Second Quarter
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